ENTHEE Yt N ERE E RS

Fk28498248 (L)

No.1

pit| mR |7 ) e Ee) s |0 s Ee) s |0 s AR, s |0 s AR, i
09/24| BF14 EY: T|BRERE 1 [ER/\IE nEe00. M| 2 3AE WiE 1 [[EMEE 128003 ||3|MEE & 1[ERAEH 12724 4|8 @A 1 [MEE®R 127043
100m AEH +0. Tm +0. 7m =0. 7m
5\FEH ®E 1 [ERdE 128048 |6 |FHI F# 1[ERILE 128077 |7T|BHFER 1[ERRE 12878 | 8|FE X 1[EREE 12789
0. Om —0. Im +0. 1m =0. 7m
09/24| B F24 EY: 1|88 BRe 2[EREE 1740 (2 [HERHE 2 [EREE M#74 [ 3|8KR 1&H  2[ENES 78 4|80 BE 2[ERER 115094
100m || +0. 2m +0. 1m +0. 3m +0. 3m
5|EE EBX 2[ERES 11794 [ 6 (ASEER 2 [ERLE 1799 [7[#2 # 2[ERJE 12801 [8|EM HRE 2[ERE 12%007
0. Om +0. 4m +0. 1m +0. 2m
09/24| BF+@ R 1|88 B 2[EREE 23867 |2 [tEERHE 2 [ENREE 24%052 |[3|[RE BXK 2[EWES 24870 |[4)3nE ERE 1 [RREFH 24091
200m —0. 4m —0. 5m =0. 7m —0. 9m
5|KA R 2[EWLFEER 247096 |6 ([HE KB 2 [MEFHE 25%006 || 7 [(AIGEEEER 2 [[ERALE 25%022 |8 |Freh AR 1 (|MEER 25%043
=1.3m —0. 3m —0. 3m —0. 2m
09/24| BF+@ R 180 BEE 2ENER 5393 |2 |BE B 2[EWREE b4F43 |3 | B BN 2 MR 55803 |[4[)37790 44y 2 [(EMMEIRER b5%026
400m
5|lUA #IK  2[#fE b6F55 |6 [EFH #£E 2 [ERILE 56%68 || 7|AZE FE 2|EMEE b6#076 |8 |fhE & 2 JEHASMEEES| 56798
09/24|BF25 R 1128 & 2 IR A S 25703#30 2 [BIE B 2[ENREE 253058001 3 | =T|H 2 [EHWEED 25309%008 |[ 4 |7 =E 2 [ENIERE| 29127022
800m
5% ®|I 2 ENE= 270128047\ 6 ([BX &EFE 2 ENR=EAR | 29012857|| 7 |(HIL T 2 ENREEH 290128086 || 8 [ KB BEE 2[EMEAR |2412795
09/24| BF15E R 1|RE &F 1ERAH 453378050 | 2 (1L k& 1 [ERER 4537897 | 3 | &R #EK 1 [EMSHERE | 4539739 4 (4L fAaX 1 [/ENRHT 45344%054
1500m
5\4H [EH 1 [MEHE 457447066 || 6 ik S35 1 |ATERIES 4753448098 7 1ML EA  1[EMRAFH 47534680718 |85 K BK 1 [ENRILE 453478026
09/24| BFH@ R 1|e X 2 |HvEREEG 9727852 2 |[[RE &EE 2[EMEAR | 9927877 |3 |BE @1 2 |MfEHE 97298024 | 4 [EMAKRER  2EMEE 94330%048
3000m
[HES WE  2ENMAFK 9734F05]( 6 [EO KRN 2[EWEE 9572357101 7 FF TE 2 [EMILERIE| 99378020 8 |FEH EH 2 IENEED 9537%050
09/24| BFH@ R 1O $R#  2[EWESE 158096 (2 |#%R —FK 2|E#dE 178050 | 3 [ B 2iEMDES 17085 |4 |HIIEZ 2iEMEE 187001
110mH[0. 840m/9. 14m] -1.3m =0. 9m =1.5m -2. 1m
5|RE K 2[ENRXE 18%053 (6 M& FEE 1[|ENRER 18%056 | 7|l =th 2 (EARHET 187061 |8 |[MAT JH#E 2 [RHFEE[E 18774
=1.4m —2. 8m —2. 8m =1.4m
09/24|BFE EYE) He fHx 2 FiE B 2 AERESR 2 ® X 2
4 x 100mR 1|HERHBE 2 [EREE 468013 |2 |[REA BX 2 [[EWVESR 475038 || 3 |mE o 2 [ERALER 477045 ||4|BFE RF 2 [EMEER 47F059
#/AR &E 2 Bl BA 2 WA HE 2 W m&E 2
i &= 2 JTEE 2 = N X BB; 2
EEH OEH4 2 R &5 2 EHF BN 2 FH BFE 2
5% thE 2 |ENRDER 47077 || 6 [k IWiE 1 [EMEH 817 ||7|%E 2z 2 [EREFHE 487018 || 8 [# #H|E 2[EMEE 48732
fE B 2 X% B 2 AH F£=£ 2 BT ZR 2
N 1 Fh 2 #T 2 2 EH FEE 2
09/24 £¥1$ R 118BX 75 1[EREE 1m6; 2088 K 1[ENREH mb0 |3 |FHE K 1[ERNE ms0 |4 [/h#h FT|— 1[ERFE Tm4b
=Bk AEH
. 5[hl2 EX 1[ERILE mds  |6[8K BE 1[EREE md0 [[7N8 ZR 1[EREDS m35 [[8[FMMAEEZE 1[ER#HA= 1m30
18]zAm —t# 1[ERARK 1m30 8IFE BK 1[EREE 1m30
09/24 %?23’3 R 1|&H BH 2ENRES 1m65 2|m s B 2 [EXMVEIRIEER 1m65 3 |[1kik £ 2|HdAE 1m60 4184 IR 2[EREE 1mb5
= 5k
41=ZH stH 2 [EREFH 1mb5 6T RE 2[EWES 1mb5 Tl/hE BER 2 [(ERFE 1mb5 8| LARE 2 |iEMARERL 1mb5




No.2

09/24 %i;ﬁtﬁ RA% 1T #HFh ENERE 3m60 #HAR BiE  2|ENREE 3m20 J|/NEEES HTEEE 3m20 4|tH &H AR 3m00
. 5= BX HTEEE 2m80 B =3 1 [ER/\E 2m60 T|8RE BA SEMEE 2m40 1H Bt ENEE 2m40
09/24| BF15E RA% 1|5E % & HEEEE 5m12 HHAGHEX 1[EREE 4m91 3|iEmE EaE SEMEIR 4m77 4|48 EE SERMRER 4m59
E Rk L | —0. 4m —0. 2m —0. 3m —0. 4m
5|#HE #H SEMETE 4m57 FEENEE 1 [ELEE 4mb7 6|KE& RS SEMEES 4mb7 8[ILTF = EMER 4m50
=1.4m 0. Om +0. 3m 0. Om
09/24|BF25 RA% 1|X# =A EMAE 5m85 AR 1&E  2RNERE 5m70 3 |FRILE KB SERABRE 5m43 4Bk EEA SENVES 5m37
ENE Bk +0. 4m -5.3m +0. 6m —0. 1m
5|F@E EF ENEE 5m30 mE B 2[RNREAR 5m30 eSS BES SERY )\ 5m22 (+5. 5m) || 8 | RIFFE Z I SEMMEERER 5m22
—0. 3m —0. 8m /35m08 (=0. 6m) -2. Om
09/24 %?1& RA% 1| K& Z84 SERMET 12m88 WA —#E 1[#fE 12m20 |3 (BB HZE SEMES 1m05  [[4|&€E ZER JEMKE 10m61
I [2. 721ke]
EEES % SEMALIR 10m48 ik KEE 1[|E##HE 9m91 T(HIE FRE SEMAMLIR 9m88 8|FEX 75 EMER 9m83
09/24 %i?ﬂ? RA% 118K S JEMKE %324; fEH BN 2|EWRFZE 10m85 |[ 3 |t 4 SEMMEER 10m33 [[4|fhy XR JEMTSE 9m02
% (5. Okg 3l
5| &% i JEMTE 8;33 #®AR BX  2|ENEE 8mb9 T+ X SEMMERR 8m21 8| KE E PRy ES Tm68
09/24| & F15 RA% [ SEMMILE 13%014 BH &B 1[ERERA 13%#30 | 3|4 &3k SEMMIER 13%058 |48 FER SERMMERER 13%059
100m —0. 2m —0. 8m —0. 9m =0. 7m
BHEIIEES EMER 13%671 wE EXE 1 [ERME 138073 || 7| RF SEMMERER 138078 |8 |AE HiE GEMVEIRIEER | 13F086
—0. 8m =1.3m 0. Om —0. 9m
09/24| % F25 RA% EIE GRS SERMMHE R 13%125 My E£FE  2[ERCUERI| 13832 |3 |FE EBFR SEMMEE 138035 | 4|fFE F4E SEMMIEE 138041
100m || +0. 1m +0. 1m +0. 4m +0. 6m
5 |mERpAY ENSE 13%151 AH F@E 2[ENR=FR 138052 |7 |{&iE FIF SEMMEER 13%052 |8 |HE FEE JEME 13%056
=1.4m —0. 6m +0. 6m =1.4m
09/24|ZF+@ R 1|58 %A SEMER 27#31 XS BE  2ERMUERIR| 27837 |3[BE AR SEMME 28F000 [[4|&AX IR ENMES 28%15
200m —0. 6m —0. 6m —0. 5m =0. 7m
5(hFBEF SEMMERER 28%23 Hd B 2 |EREF 288025 |[7(EH HE HEEEE 28%048 |8 |KH EM=AR 28%049
=1.2m —1.5m —0. 6m —0. 9m
09/24| & F15 RA% ES-EEE SEMMEE 26:‘19#%}‘32 FEBRE 1[ERIE 25725568 || 3 PR X ENSE 2727802414 kO0 R=FE EMAENE | 2530037
800m || XE#H
5|E%E XxZF SEMEE 26:‘3:():%"}‘41 EFF OLDE 1[EREI 243308090 7 |1 =B JENVESR 25330%98 || 8 [T RIEEE SERMMRER 253315012
09/24| & F245 RA% 18K %K= HEEEE 257205049 | 2 [#EE TR 2 [(RMEHE 292182 |13 (K BE JENNVESR 20248114 |/hE %R EMAENE | 25247019
800m
5|EM X ENEE 25325%025 Hd B 2 |EREF 253258030 7 [iE:8 E3 SEMMERE 2572586218 [(AIE YA SEMGEILIEER | 29926F012
09/24|ZF+@ R 1|8 Tk SEMMETH 453518099 2 |8 K XHE 2 [HBE#HE 453528071 3 |FREEZ DA ] 45353775 || 4 |5&F DB SEMMERER 453555133
1500m
HEEETES EMM=AIR | 45958346 |TFH BfE 2 [(EMMLE 55702839 7 [BEARBED SEMMERE 55703731 8 [BiE =W HEHE 55304725
09/24| & F i@ R 1&% FiF SEMMEER 155184 #®wARk BE 2|ENRAESH 168017 |3 |5HE RfE EMER 168022 | 4|8K ZFEFH SEMMERER 165034
100mH[0. 762m =0. Im +0. 8m +0. 2m +0. 5m
5|=2% A SEMMEE 168176 it 'L 2 |ENRGPER 16%082 |7 [(FE EBE# EMXE 16%091 | 8|BFH 2 EMEH 17%032
—0. 8m —0. 8m +0. 3m +0. 2m




No.3

09/24| & F4i@ RS EAX DB 2 BiE i 2 =k B 2 BHF EAR 2
4 x100mR 118K R 1 |EREF 52F042 |2 1Rk HF&E 2 |ENREE 52f42 ||3|BxX AR 1 [ENE5# 527062 |4 |BE Bk 2|ENXE 52%174
Hft XE 2 wmx ®=EH 1 BEHM 2 ®BE S5 |
B B 2 ik BHx 2 A FEF 2 HO =& 2
=H ®E 2 FEFE LY 2 miE FE 2 BiE I 2
5|4 @k 1[EMEE 52F080 |6 [RbE =Emx 2 |iE#LIE 527094 || 7| BEF 2 [ENHLUERER| 538007 (|8 |EE BF 2 |EHRMR 5333
miE EHE 1 mi £F 1 e £E 2 #RK X5 1
WF FF 2 diE BE 2 % p 1 JI 8 2
09/24 if;f P Tk B 1 [ERER md0 |28 BEE 1|EEXF md0 |3 [BA #ER 1|ENRER 1m35 4|48 EBf 1 [ENREER 1m35
=
S5[ILE #mE 1|MEER 1m30 6[FE FE 1[ER=AR 1m30 T|eMBEEF  1[ERRE m30  [[8[JNR mZE 1[|EMRILE 1m30
09/24 ifé?‘- P 118E B# 2[EMXE 1m45 2| x BE 2 |HEFE md0  |3[ER ‘= 2[|ENMEILILE 1m35 4N HE  2[ENESE 1m35
=
5\HEE ¥ 2 [ER/\HE 1m35 6[/hith BE 2 ENREE 1m35 TN=% BE  2HEHE 1m35 8| HMEEKE 2[EMXE 1m35
09/24|ZF15 EY: 1T|E W 1ERNEIIEE|  4n78 |2 [#F O 1[EMWIE 4m27 (i FE 1[ENRRE 20  [4]|EH BE 1|ERIEE 4m11
E Rk || +0. 1m +0. 2m +1.2m +0. 3m
5 (EeMiAREE] 1 [(EMAR 4m07 6[TTHEEE  1[ERAE 4m07 T|FH/ 08 1 [E0RHE 4m05 8|mHE EIM 1[ENRARH 3m95
—0. 2m =0. 7m +0. 4m =0. Im
09/24| % F25 RS 11%a B5F 2|ERQIGERSE|  5m03 2% WE 2[MAEEER 4m73 3B WA 2|EMUEILILE|  4m67 diEiE BX 2 [|ENEE 4m62
E Rk —0.1m +0. 5m +0. 7m +0. 9m
5B HER 2[ENRE 4m57 6|8 Lt 2[EREE 4m32 T\KE ZiEF 2 [ER/\E 4m26 8|BE RE 2[HBFRE 4m20
+0. 8m +0. 3m +0. 2m +0. 3m
09/24 %i;fﬁ 5]%5# 11&%: &m  1[ERTETE 9Im15 2|ER ME 1 [R#5HERER|  8m68 |3 |#MEF STE 1 [[ENEE mb8  (4|mF |/ 1|EREAE Tmdb
% (2. 721kg
5|XF #|E 1[ENLE Tm26 6(Bi BH; 1[EWAEF m15 ThaEmEEER 1[ERRE mio  |[8(=HE & 1[HEHE 6m94
09/24 %i?fﬁ ;‘]kﬁ# 1|XE E#H 2|@EEXF 1m14 |2\ #kiE 2 [[ENES 1m02 |3 |2 BAF 2[ENMER 10m67 [[4|FH F&E 2[ENREH 9Im76
% (2. 721kg ||
5\FH BRE 2|ENRILE 9m30 6|KH »& 2[ENMXE 8m88 T(#% #km 2 (EREIR 8mb5 8|BEH ¥HE 2[ENEH 8md4




